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/*** FTE1Z1089MN48 ***/
#include <iostream>

]
using namespace std; ﬁ%ﬁﬁfﬁlﬂis“ﬁi
= -',-\
int main(void) BNk
{ - 4
int num = 10; //7]%55: %ﬁlf
int sum = O; woirR A& MR 1L A7 S !

for (int 1 = 1; 1 <= num; i+ ) ‘ o
sum = sum + i; //NEEES % B/ iF 2 2] e

+ |

cout << ""the sum of iIntegers from 1 to " << num;
cout << " 1S '"'<< sum << endl;
4

system("'PAUSE™); //%
return O;

}




// E A

int main(void)
1
//TEERAELL - - -

return 0; //[0|{50 » #2045

}
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int main(void)

{

int| [al| [ //78%5
return O: //IEH%O *ﬁﬁ G

}

SRR BEBE(EE)
int number ;




//E AT
int main(void)

{

S&IaK

return 0; //[0&E0  ZE 45




BB 2 B 0ALL

//ERT
int main(void)

return 0; //[E&0 - B4

+
int number c;
number_c = number_b + 4;




//EPAT
int main(void)
{
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int a = 6; /*¢YR(EES WREBITEE>/
b = / 3 + 2; ‘””&?E/fo UG/ B TR R

return 0; //[E50 - B 4EE
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#include<iostream> lostream

using namespace std BHEY EET T8

// R cout << “string”

int main(void EE 7

{ ( ) RS EEF EHBE
Int number a = 6; Callt <= Vap °

number_a = number_a/3+2; _—
ML EEF ]RT

cout<<“numbera = cout << endl;

C()Ut< <end l 3 C:\Documents and Settings\cityband \S= [E
number _a =|
system(“PAUSE"); ST - .

return 0:; //[E1E0  BX&E®
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#include<iostream>
using namespace std;

//F R

int main(void)

{
int = 6; // E &?EI/)/U(
a = / 3 + 2; //EREK

cout << "a > 3"';

}

cout << endl;
system(""PAUSE"'");
return 0; //[E/{&E0 - 245
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> 3; // true [KR]
>= 3; // true [KRRER]
< 6; // false [/MRR]

6; // true [/MRFER]
== 6; // true [ZR]

6; // false [AER]
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int main(void){
int num = 3;
iIT (nhum >3) {
num = num -
}

cout << num;

return O;

system("'PAUSE™) ;

3;

-
[ i’ c sers\wukc\docun;ents\viﬂ

2. 1f-elseix it
T30 ){
it ..

} else {
STt ...

2| 8y

}
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int main(void){
int num = 3;
it (num >3) {

num = num - 3;
+
else {

num = num + 3;
+

cout << num;
system(""PAUSE"") ;
return O;

w
ne c:\users\wukc\documents.\visual



#include <iostream > Ffor(GEE ;V; st ; 5% {

using namespace std;

//E KT
int main(void) ¥
{

Iint num = 1;
//for B
for

}

cout << num;

"8 C\Users\WUKO\documents\visual stuc

system("'PAUSE™) ;

return 0; //EE0 - 204
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/*** GtE1E 100948 **+*/

#include <iostream>

using namespace std; 57 /A2 3¢
int main(void) 5 SI*
{ gz |

int num = 10; //MM%%% [ 45 b

int sum = 0; //#CSR4AI8I8A1E A A

for (int 1 = 1; 1 <= num; I+ ) ‘ o g
sum = sum + i; //NIFRES B/ iF = A

+ |

cout << ""the sum of iIntegers from 1 to " << num;
cout << " 1S '"'<< sum << endl;
4

system("'PAUSE™); //%
return O;
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Win32 BEHETES - c++_tutorial
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B%sa e EPNEE - (Syntax Erfars)

HRELDEMATR ;"

#include<iostream>
using namespace std;

//E AT
int main(void)
{

int num = 3
P COut << num;

system(""PAUSE™) ;
return 0; //[0l{&E0 - 2045

}

1>----- EFtAEE: B2 c++_tutorial, 4H%E: Debug Win32 ------

1> c++_tutorial_ex2_sum.cpp

1>c:\users\wukc\documents\visual studio 2013\projects\c++_tutorial\c++_tutorial\c++_tutorial_ex2_sum.cpp(8): error C2146: FE/A§E5
R (ESAPH 'cout’ ZR0)

———=—====—== @E 0 BZ]jJ 1 9&5& 0 E—‘%ﬁ- 0 ]H%L ——=—====—===
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#include<iostream>
using namespace std;

//F R
int main(void)

{

int num = 3; //¥HEES

## &5 O] [

B c\users\wukc\documents\visual st

for (int i = 2;[1 <= 103 i++) {

if (i <5) {
num = num * 1;
}
else{
num = num + 1]
}

}

cout << num;

system("'PAUSE™);

return 0; //[EE0 - B4
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